Math 9 — Unit 4: Word Problems Name: M/’ /’/C‘ﬂfm

Lesson #5: Uniform Motion (Distance, Rate, and Time) Date: @JLH/DM Q g) ;Q’”C/

Learning Goal: We are learning to solve word problems involving uniform motion.

The formula we will use is distance = rate x time, or d = rt. (NOTE: rate is also known as speed). However, what
if we want to solve for rate or time? We can create a handy triangle to help!
Calculate the distance travelled: 3 hours at 60 km/h
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Calculate time for the trip: 360 km at 80 km/h
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Calculate the rate (or speed): 400 kmin5 h.
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To solve a word problem involving uniform motion, we will again use a chart instead of a “LET” statement.

a) A cruise ship left Halifax for Bermuda at 20 km/h.
A private boat left for Bermuda’ 1 hour later a an'i
travelled at 25 km/h. How long did it take the
private boat to overtake (or catch up) the cruise
ship?

b) Two cars left a service centre at the same time.
One car travelled in one directions at 75 km/h. The

other car travelled in the opposite direction at 85

km/h. fter how long were they 600 km apart?

Frue

[Qﬂ(clt oﬂD = ?f(m/ d}’ ce

mA‘w‘ 30 + 26
17 (J( /) = > P — >
) —Jo o o ¢
Q\&Pf TR&‘ = d3x g
Fruomton )5 « 85x = oo

do= S

- x

e ﬂ@ f.’?n'wvie boa/'—' TLG-ak
Z/ '(Icyw—; ;U Ca[(/\ UyO

7é’57%_ Cruk§/ﬂ

[ /6C>

xX= 375}

C ( g }’\) 95/,41,‘4%/495,




c) Two friends, Elsa in Winnipeg and Anna in
Edmonton, decided to meet on the Trans-Canada
Highway. The distance from Winnipeg to Edmonton
is 1360 km. They both left at 8:00 am Winnipeg
time. If Elsa drove at 80 km/h and Anna at 90 km/h,
how many hours did they drive before they met? |
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e) A car left a garage and drove 80 km/h. Fifteen
minutes later, a second car left the same garage at
100 km/h and travelled in the same direction. How
long did it take the second car to catch up to the

first car?

Success Criteria:
[ ]

| D
| Tjﬁr@/!{ %(r/ﬁj /I Xty [/?

d) A jet left Paris and flew toward Istanbul. Three
hours later a passenger plane left flying 120 km/h
faster in an effort to catch up to it. After four hours
the passenger plane finally caught up. Find the jet's
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average speed.
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f) Lea traveled to her friend's house and back. The
trip there took: and the trip back took
hours. She averaged 15 mph faster on the trip
there than on the return trip. What was Lea's
average speed on the outbound trip?
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| can set up a D-R-T chart to model the word problem
| can solve for d, r, or t by using the equationd =r x t



